Tk 2 14 1 BERSERT TR

H &% H | #EH % B N g
1 23 | A |O £ H (15 #EFEL1ERVLILERESELS 45 (REHB O
2 24 | Kk R =
3 25 | Kk R =
A 06 K E N ¢ %mﬁﬁﬁﬁgﬁ@%ﬁﬁ T EHFET
*  ERF AL FITHT OB EZN FEERFET
5 27 / =
6 28 | 1 &
7 1 2
8 2 =
& (25 BMEF 1 FRVWLILELRFEI8E, REFE4 25, &
BHEABFRVERFEA6 RV LERES 45
9 3 X }%%ﬁ%ﬁ%gﬁjéé%H%)A
BEESIIBFRVLILERTE4 15, BEFE445K
VR 455 (FH
*  RERESURMZA TR IREET
10 4 7K R =
11 5 PN K = (AERAFTZES  THT 10 )
12 6 & K = (BERAFTEZES A 10 )
13 N &
14 8 | £
15 9 = ERE R EZES PRl 10 )
16 10 = (E g FLERS AT 10 K)
17 11 =
18 12 = (e % %A & B = A1 10 k)
19 13 &> = (e B WA Z B & FA110 )
20 4 |7 &
21 15 =
22 16 = ok ZERWEICKHTER - fmEEZM EfET
23 17 =
24 18 =
o5 19 = % GB3m) (ZEEWREICT R - Flm - BRIk,
TEMT PN 12 BT 2 eI B O Rcfeis | — A E 1)
26 20 | &
27 21 | 2
28 22 | 1 £
9 03 | 7 OR = %(%4%ﬁ}*&§@)
*  FEERIEHSZAT RS KRFET
30 24 | kK |OXR &= & (Bb5) (—ERM)
31 25 | K |OK = & (65 (—HEM)
32 26 | K |OK = & B75) (—ER)




